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FIRST TERMINAL EXAMINATION (2021-2022)

gfagel wesT 9T #e-01
Model Question Paper SET-01

FaT-11 fwg- damre ¥HAI- 1 HeT 30 fAee quITeH-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3W & AT FE e AL FIE AN

There will be no negative marking for any wrong answer.

1. Fifeea o 50 TR T foredt 2
(Kautilya wrote a book on)-
(a)er@TehsT (Accounting)

(b) 3TRMET (Economics)

(c) TITETHT (Statistics)

(d) EEIETRITES (Palmistry)

(Accounting is based on careful and efficient)-
(a) WW@ (Book-keeping system)
(b) 3TTHIEGST JUTTEIT (Recording system)

(c) FITTRIOT JOTTeIT (Classification system)

(d) HFUYUT YUTTSIT (Communicating system)

3. ! & U e H It radiilies aF-cHl & afedd diid o Rbie &R &1 Sl & Hgl offdl &-
(The art of recording all business transactions in a systematic manner in a set of books is called)-

(a) [SEGIEZD] (Accounting)
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(b) Y&UTeI (Book — keeping)
(c) @raTds! (Ledger)

(d) 33'13[ ﬁaﬁé el (None of these)

4. GEATCl 1 7T 36a2T &

(The main objective of Book-keeping is)-

(a) aﬂmﬂqﬁm (Complete recording of transactions)

(b) aarg X fad garmg &1 faeor (Ascertainment of financial effect on the business)
(c) THS FT fAeevor g2 [da (Analysis and interpretation of data)

(d) (a) 3R (b) GI<AT [Both (a) and (b)]

5. Aiehe] HET H §
(The prime function of accounting is )-

(a) SATTATTAS oleT-Call T ITFGeT =T (Recording of business transactions)
(b) TFETAT & EIJIUI’I T 3TTHGST haT (Recording qualities of the businessman)

(c) TS SHIERT &1 ATHIEA T 3o T (Recording and classifying business transactions)

(d) SHTACTET & TIT FeIATcHe 3MUR YT+ YT (Providing the informational basis for action)

6. INURTTTd, WTdl fba UBR & BId 27

Traditionally, accounts are of how many types?

a. 33[ (Two)

b. ?‘ﬂ:f(Three)

C. dR(Four)

d. 17|S|’?J(Five)

7. FrafefEd & § o gfieru ag §

(Which equation is correct out of the following?)-

ol = g1 - q\ﬁﬁ (Assets = Liabilities-Capital)
Wﬁ?ﬁ: q\ﬁﬁ - qIf@ (Assets = Capital-Liabilities)
?{Iﬂﬁ'&ﬁ’: fIGﬁ + QIR (Assets = Capital + Liabilities)
qrferdr = R&HI - ST (Assets = Net Worth-Liabilities

oo op
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8. FRITTT 79T & [ & T H AT IMATX 5,000 Th ...&

(X5,000 paid as rent of office premises is an/a ...... )-

(a) EICHT (Event)
(b) ele1-ge (Transaction)

(c) 'a' Td 'b' &<l (Both 'a' and 'b)

(d) STHHDISAGT (None of these)

9.Th TR (TP W) H fobeH Bl gd 82

(How many columns are there in a Ledger (in one side)?)-

a. AR(Four)

b.  Ul(Five)

C. D:(Six)

d. HId (Seven)

10. GETITSI HEY &Y & FFATET &

(Book-keeping is mainly concerned with)-

(a) 3TTAATET GHFT I ARITAT FA T (Summarising the recorded data)
(b) 3UGTITRATT F ToTT FHPT T TAaaeT Hlad T (Interpreting the data for users)
(c) fa<iT T&Heht & 31TF W & (Recording of financial data)

(d) sﬂ?ff ﬂ@éﬂ%’f (None of these)

11. AT a9 TN §
(Outstanding Salary Account is) :

Hfgdd MTdT (Personal A/c)
NERIESGa MATdTl (Impersonal A/c)
IRdfd® ATdT (Real A/c)

Etlﬁ ﬁ aﬂ% :I%T(None of the above)

Qa0 o p

12. SIGTehe] T HTNT§

(The language of Accounting is) -
(a) F&T (Money)

(b) ELEG (Transaction)
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(c) eI (Business)

(d) s?rﬁr ﬁaﬂéa@r (None of these)

13. 'S T Ahe fhg WId & dgd AT g 2

(‘Cash at Bank’ comes under which account?)

faaTd didi(Personal Account)
grdfde WTdl (Real Account)
ATHHE DI WIdl(Nominal A/c)

0 q Pig :I?T(None of the above)

2 o o op

14. GETITCle o STeHelc 8-

(The father of Book-keeping is)-

(a) P (Carter)

(b) qum (Spicer and Pegler)
(c) W’qﬁ'ﬂﬁ?ﬁ (Lucas Pacioli)

(d) AT (Marshall)

15. GECITer 3R Seiehs] @rqmwwmag‘s"aﬁ?

(When was the first book on Book-keeping and Accountancy got published?)
(a) 1446
(b) 1598
(c) 1494
(d) 1694

16. TR g9y 7 GiFAfad glag
(Fixed assets include)-

(a) 31Teder AT (Closing stock)

(b) B (Furniture)

(c) JTTIAFITATST (Payment in Advance)
(d) &G (Debtors)
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17. TATHIITT IV oh JeITaT TEUT S GITAcal ol hgl Il &

(The obligation of an enterprise other than owner's fund is known as)-
(a) FFATRT (Assets)

(b) ST (Liabilities)

(c) I3 (Capital)

(d) 3131 T IS AGT (None of these)

18. A-CA FT T &

(Transaction means)-

(a) ATl UG HAT31T &l [aTA#T (Exchange of goods and services)
(b) WUH@ETﬁﬂﬁaTﬁﬁﬁm (Exchange of goods and services in terms of money)
(c) muaagaﬂfr%ﬁm (Exchange of goods and money)

(d) Wﬁaﬁﬁﬁm (Exchange of money only)

19. 37 TN T FSeT T U7 STIAT URATE, SY FET ATAT S

(All those to whom business owes money are called) :

(a) GG (Debtors)
(b) SR (Creditors)
(c) T (Investors)

(d) 378 T Y (All of these)

20. 577 & T Yl 37 Ascg
(Another term used for expense is):
(a) HHATCT AT (Expired Cost)

(b) 3THATC oITeTd (Unexpired Cost)
(c) @FAT (Assets)

(d) &TfeT (Loss)

21. G- o] ARV W TR SATAATTAeh olel-Sail bl TR TR hlet hr TaTer T ahgT ST &

(The system of recordingbusiness transactions based on dual aspect concept is called):
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(a) Eﬂ%'{'l'ﬁ'@TqU'ﬂ?ﬂ' (Double Entry System)
(b) GIET WTAT YUTTeIT (Double Account System)
(c) WWW (Double Book System)

(d) 39 THT (All of the above)

22. 11 YR & WG o fbar Sl B

(Credit purchase of goods is recorded in:)

%4 fdbdid  (Purchase book)

ol fhdid (sales book)

m CH (Cash book)

TiFIﬁ q aﬂé :fé)[ (None of the above)

a0 o ow

23. AGicheT & TEHTed TTHI: TR 8l &
(Accounting Principles are generally based on):

(a) FATafASEAT IR (Subjectivity).

(b) SATIRTIRST IR (Practicability)

(c) mﬂmﬁww (Convenience in recording)

(d) HheTaTd (Imagination)

24. TR TR o HTHR 3o ole-CaAl 20T, TSieg HaT o &9 H Sefet fohalT ST Fehell &, SH@TTEeh! H 3HATE

TRaT ST TTige?

(Which concept requires that those transactions which can be expressed in terms of money should be recorded in

the books of account?)

(a) SATTETRAS $<=h|é (Business entity)
(b) @-Wm(Dual Aspect)
(c) agarﬁ:mcr (Money measurement)

(d) s?ﬂfl' @'?ﬁé’ﬂﬁ' (None of these)

25. 3MTEIUN WA I AV AR BT gxiaRd fbar S g

(Balance of Drawing Account is transferred to:)

a. algll MTdl (Trading A/c)
b. qY 3R BTﬁ MTdI(Profit & Loss A/c)
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C. q\\_rﬁ GTdT (Capital A/c)
d. ﬁﬁ@[ﬁ'ﬁcﬁ(None of the above)

26. 31CT AT T A o Iecl A SIE-BTie Wi A v FACUTecl o 3TTaRATTA T ST 82

(According to which concept, outstanding expenses is included in Profit & Loss A/c at the end of the year ?)

(a) AT 379U (Matching concept)
(b) JUT TehETeRIuT ITLRTT (Full disclosure concept)
(c) 3UTSTeT 3TTYUT (Accrual concept)

(d) mq\i%aﬁraﬁraqamvrr (Going concern concept)

27. 39 Td HiETer HUI & fT 3MAISTeT fohd 3raerRoT (RAETed) H31TaR fohar ST g

(Provision for bad and doubtful debts is made due to the concept (principle) of) :

(a) Sfearfedar AT AaehdT 3TTHRUT (Conservatism concept)
(b) GUT TehETeRIUT ITLRTT (Full disclosure concept)
(c) Wmm(Going concern concept)

(d) Teh&YdT ITTRUIT (Consistency concept)

28. 3UTSIT T ITLROT F T 0T &

(Accrual concept is related with...)-

(a) aj%-ngaaww (Dual aspect concept)
(b) oITITd TTYRUI 9 (Cost concept)

(c) RIS 37a¥ROT 90X (Matching concept)

(d) s?l?ff ﬂﬁéﬂ%’f (None of these)

29. 3R HTATATH & ITER oIWichet AT gl &

(As per Income Tax Act, accounting period is)-

(a) 1 STeTa 31 fgTFaA® (From 1st Jan. to 31st Dec.)

(b) 1 3 31 Hr?fl'a'EF(From 1st April to 31st March)

(c)1 ogoilé{-l 30 SleTceh (From 1st July to 30th June)

(d) 1 37eFCaTd 30 fATFSRA (From 1st Oct. to 30th Sept.)
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30. fordlT HATURUT o TR Tiday Teh ST S@iehe] Teti il &hr dTele fehdT STt T1few
(According to which concept the same accounting methods should be followed each year)-

(a) qUT FeREIRTUT (Full disclosure)
(b) AT (Materiality)
(c) ThEYAT (Consistency)

(d) TSI (Matching)

31. GIET oI @T JOTTelT 3T ST 3T AT
(Double Entry System was originated in)-
(b) 3TATET H (America)

(a) HR H (India)

(c) ST H (Italy)

(d) I H (France)

32. GIgT oI ET JUTTell & 3R §
(Double Entry System Means)-
(a) TECRI & 2T ITe3T-3TeldT HHGT A FTATSE (Entry in two different sets of books)

(b) & ATEATas @Al H 9fATSE (Entry in two real accounts)

(c) g{-dehi Q?K'EF{-IH‘@ ey wiafsear (Two entries in one set of books)

(d) Ueh STGgR & ar gedi I 9fafse (Entry of both aspects of one transaction)

33. 96 # oW @ & fog, Sfae g
(For Cash deposited into Bank, debit will be :)

S ATdT (Bank A/c)

m WIdl(Cash A/c )

Sl WTIdl(Depositor A/c )

E:Iﬁ I ﬁ_ﬁi :|_E>p[ (None of the above )

a0 o p

34. Hel Jorl 1 fAAwaT

(Features of source documents are)-

(a) GT&T (Evidence)
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(b) 379R&TUT &AT 3T (Basis of Audit)
(c) ﬁ"v?ﬁ'@’fﬂ (Detailed description)
(d) 2 Y (All of these)

35. Th doue dgR fhbar ar g .

(A Trial Balance is prepared by ... :)

IrT fafdi(Totals Method)
Y ﬁf‘a(Balances Method)
IR & Eﬁzﬁ(Both of the Above)

Eﬂﬁ I ﬁg :lﬁ(None of the above)

o0 o ow

36. Uh ATEH P ......... NS SATAT & ST I AT a9 AT gl

(cerenes is sent to customer when he returns goods) -

(a) ST I (Debit Note)

(b) ShT3T ST (Credit Note)

(c) 5T (Invoice)

(d) 313 T IS BT (None of these)

37. Tsha 981 7 UTATSE & 31Tl & ToTT YteT fohalT SiTet aTell el ol AT AU &
(The source document or voucher used for recording entries in sales book is)-

(a) SISTRYTAT (Invoice Received)
(b) SIS (Invoice Sent)
(c) STHTIH (Credit Note)

(d) SATHYA (Debit Note)

38. 3oTH U et & [AUETY AR T T EOT AL AT E?
(Which of the following does not follow dual aspect concept?)

(a) chrﬁrﬁqa{ﬁr, Q}ﬁ #H H&AT (Increase in one asset, decrease in another)
(b) geufa va ailfica gl ﬁq—c\'ﬁ(lncrease in both asset and liability)
(c) Uk HFUTT H ST, ?{H’Tﬁ'm (Decrease in one asset, decrease in other)

(d) WWW{H’I’#W (Decrease in one asset and capital)
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39. F{3Ma 1 AT FASNA I Tl FIh &

(Errors of compensation affect the agreement of the :)

e f%ng(BaIance Sheet)
ddUc(Trial Balance)

IR & Eﬁzﬁ (Both of the Above)
_s’:lﬁ I aﬂ‘a‘ :|—Evpf(Neither of the above)

oo o p

40. T 72N % 6,60,000 F WIET TS| X 1,20,000 7ehe; &2 I 3R AW WY & forw 60 T aren veh AUy TR

TR 93T | TURIT . ....... giar?

(An machine was purchased for X 6,60,000. Cash was paid X 1,20,000 and for the balance amount, a bill was

accepted for 60 days. Fixed assets will be :)
(a) %1,20,000

(b) X5,40,000

(c) X6,60,000

(d) Nil
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